Quadratic Equations

```
Question 1.
Solve the following (1 to 12) equations:
(i) x^2 - 11x + 30 = 0
(ii) 4x^2 - 25 = 0
Solution:
      (i) x^2 - 11x + 30 = 0
      x^{2} - 5x - 6x + 30 = 0 \qquad \begin{cases} \because 30 = -5 \times (-6) \\ -11 = -5 - 6 \end{cases}
 \Rightarrow x(x-5) - 6(x-5) = 0
 \Rightarrow (x-5)(x-6) = 0
       Either, x - 5 = 0, then x = 5
       or x - c = 0, then x = 6
  \therefore x = 5, 6
 (ii) 4x^2 - 25 = 0 \Rightarrow 4x^2 = 0 + 25
 \Rightarrow x^2 = \frac{25}{4}
  \therefore x = \pm \sqrt{\frac{25}{4}} = \pm \frac{5}{2}
  \therefore x = \frac{5}{2}, \frac{-5}{2}
```

Question 2. (i) $2x^2 - 5x = 0$ (ii) $x^2 - 2x = 48$ Solution: (i) $2x^2 - 5x = 0$ x(2x-5)=0Either, x = 0or 2x - 5 = 0, then 2x = 5 $\Rightarrow x = \frac{5}{2}$ $\therefore x = 0, \frac{5}{2}$ (*ii*) $x^2 - 2x = 48$ $\Rightarrow x^2 - 2x - 48 = 0$ $\Rightarrow x^{2} - 8x + 6x - 48 = 0 \qquad \begin{cases} \because -48 = -8 \times 6 \\ -2 = -8 + 6 \end{cases}$ $\Rightarrow x(x-8) + 6(x-8) = 0$ \Rightarrow (x-8)(x+6)=0Either, x - 8 = 0, then x = 8or x + 6 = 0, then x = -6 $\therefore x = 8, -6$

Question 3. (i) $6 + x = x^2$ (ii) $2x^2 + 3x + 1 = 0$ Solution: (*i*) $6 + x = x^2$ $\Rightarrow x^2 - x - 6 = 0$ $\Rightarrow x^2 - 3x + 2x - 6 = 0 \qquad \begin{cases} \because -6 = -3 \times 2 \\ -1 = -3 + 2 \end{cases}$ $\Rightarrow x(x-3) + 2(x-3) = 0$ \Rightarrow (x-3)(x+2) = 0Either, x - 3 = 0, then x = 3or x + 2, = 0, then x = -2 $\therefore x = 3, -2$ (*ii*) $2x^2 - 3x + 1 = 0$ $\Rightarrow 2x^2 - 2x - x + 1 = 0$ $\Rightarrow 2x(x-1) - 1(x-1) = 0$ \Rightarrow (x-1)(2x-1)=0Either, x - 1 = 0, then x = 1or 2x - 1 = 0, then 2x = 1 $\Rightarrow x = \frac{1}{2}$ $\therefore x = 1, \frac{1}{2}$

Question 4. (i) $3x^2 = 2x + 8$ (ii) $4x^2 + 15 = 16x$ Solution: (i) $3x^2 = 2x + 8$ $\Rightarrow 3x^2 - 2x - 8 = 0$ $\Rightarrow 3x^{2} - 6x + 4x - 8 = 0 \qquad \begin{cases} \because -8 \times 3 = -24 \\ -24 = -6 \times 4 \\ -2 = -6 + 4 \end{cases}$ \Rightarrow 3x(x - 2) + 4(x - 2) = 0 \Rightarrow (x-2)(3x+4) = 0Either, x - 2 = 0, then x = 2or 3x + 4 = 0, then 3x = -4 $\Rightarrow x = \frac{-4}{3}$ $\therefore x = 2, \frac{-4}{3}$ (*ii*) $4x^2 + 15 = 16x$ $\Rightarrow 4x^2 - 16x + 15 = 0$ $\Rightarrow 4x^2 - 6x - 10x + 15 = 0$ $\begin{cases} \because 4 \times 15 = 60 \\ -16 = -6 + (-10) \\ -16 = -6 - 10 \end{cases}$ $\Rightarrow 2x(2x-3)-5(2x-3)=0$ $\Rightarrow (2x-3)(2x-5) = 0$ Either, 2x - 3 = 0, then $2x = 3 \Rightarrow x = \frac{3}{2}$ or 2x - 5 = 0, then $2x = 5 \Rightarrow x = \frac{5}{2}$ $\therefore x = \frac{3}{2}, \frac{5}{2}$

Question 5. (i) x (2x + 5) = 25(ii) (x + 3) (x - 3) = 40Solution: (i) x(2x + 5) = 25 $\Rightarrow 2x^2 + 5x - 25 = 0$ $\Rightarrow 2x^2 + 10x - 5x - 25 = 0$ $\begin{cases} \because -25 \times 2 = -50 \\ -50 = 10 \times (-5) \\ 5 = 10 - 5 \end{cases}$ $\Rightarrow 2x(x+5) - 5(x+5) = 0$ \Rightarrow (x + 5) (2x - 5) = 0 Either, x + 5 = 0, then x = -5or 2x - 5 = 0, then $2x = 5 \Rightarrow x = \frac{5}{2}$ $\therefore x = -5, \frac{5}{2}$ (*ii*) (x + 3) (x - 3) = 40 $\Rightarrow x^2 - 9 = 40 \Rightarrow x^2 - 9 - 40 = 0$ $\Rightarrow x^2 - 49 = 0 \Rightarrow (x)^2 - (7)^2 = 0$ \Rightarrow (x + 7) (x - 7) = 0 Either, x + 7 = 0, then x = -7or x - 7 = 0, then x = 7 $\therefore x = 7, -7$

Question 6. (i) (2x + 3) (x - 4) = 6(ii) (3x + 1) (2x + 3) = 3Solution: (i) (2x + 3) (x - 4) = 6 $\Rightarrow 2x^2 - 8x + 3x - 12 - 6 = 0$ $\Rightarrow 2x^2 - 5x - 18 = 0$ $\Rightarrow 2x^2 - 9x + 4x - 18 = 0$ $\begin{array}{c} \therefore -18 \times 2 = -36 \\ \therefore -36 = -9 \times 4 \\ = 5 = -9 \pm 4 \end{array}$ $\Rightarrow x(2x-9) + 2(2x-9) = 0$ $\Rightarrow (2x-9)(x+2) = 0$ Either, 2x - 9 = 0, then $2x = 9 \Rightarrow x = \frac{9}{2}$ or x + 2 = 0, then x = -2 $\therefore x = \frac{9}{2}, -2$ (*ii*) (3x + 1)(2x + 3) = 3 $\Rightarrow 6x^2 + 9x + 2x + 3 - 3 = 0$ $\Rightarrow 6x^2 + 11x = 0$ $\Rightarrow x(6x + 11) = 0$ Either, x = 0, or 6x + 11 = 0, then $6x = -11 \implies x = \frac{-11}{6}$

$$\therefore x=0, \frac{-11}{6}$$

Question 7.
(i)
$$4x^2 + 4x + 1 = 0$$

(ii) $(x - 4)^2 + 5^2 = 132$
Solution:
(i) $4x^2 + 4x + 1 = 0$
 $\Rightarrow 4x^2 + 2x + 2x + 1 = 0$
 $\Rightarrow 2x(2x + 1) + 1(2x + 1) = 0$
 $\Rightarrow (2x + 1) (2x + 1) = 0$
Either, $2x + 1 = 0$, then $x = \frac{-1}{2}$
(ii) $(x - 4)^2 + 5^2 = 13^2$
 $\Rightarrow x^2 - 8x + 16 + 25 = 169$
 $x^2 - 8x + 16 + 25 = 169$
 $x^2 - 8x + 16 + 25 - 169 = 0$
 $x^2 - 8x - 128 = 0$
 $x^2 - 16x + 8x - 128 = 0$
 $x(x - 16) + 8(x - 16) = 0$
 $(x - 16) (x + 8) = 0$
Either, $x - 16 = 0$, then $x = 16$
or $x + 8 = 0$, then $x = -8$
 $\therefore x = 16, -8$

Question 8.
(i)
$$21x^2 = 4(2x + 1)$$

(ii) $\frac{3}{3}x^2 - \frac{1}{3}x - 1 = 0$
Solution:
(i) $21x^2 = 4(2x + 1)$
 $\Rightarrow 21x^2 = 8x + 4$
 $\Rightarrow 21x^2 - 8x - 4 = 0$
 $\Rightarrow 21x^2 - 14x + 6x - 4 = 0$
 $\begin{cases} \because 21 \times (-4) = -84 \\ \therefore -84 = -14 \times 6 \\ -8 = -14 + 6 \end{cases}$
 $\Rightarrow 7x(3x - 2) + 2(3x - 2) = 0$
 $\Rightarrow (3x - 2) (7x + 2) = 0$
Either, $3x - 2 = 0$, then $3x = 2 \Rightarrow x = \frac{2}{3}$
or $7x + 2 = 0$, then $7x = -2 \Rightarrow x = \frac{-2}{7}$
 $\therefore x = \frac{2}{3}, \frac{-2}{7}$
(ii) $\frac{2}{3}x^2 - \frac{1}{3}x - 1 = 0$
 $\Rightarrow 2x^2 - x - 3 = 0$
 $\Rightarrow 2x^2 - 3x + 2x - 3 = 0$
 $\Rightarrow x(2x - 3) + 1(2x - 3) = 0$
 $\Rightarrow (2x - 3) (x + 1) = 0$
Either, $2x - 3 = 0$, then $2x = 3 \Rightarrow x = \frac{3}{2}$
or $x + 1 = 0$, then $x = -1$
 $\therefore x = \frac{3}{2}, -1$

Question 9. (i) $6x + 29 = \frac{5}{x}$ (ii) $\mathbf{x} + \frac{1}{x} = 2\frac{1}{2}$ Solution: 彩领→器=35 æ \$\$²+2\$\$~\$ 医 驚 合調解目的一般 目留 fr dat-Be-199 } . -M=M0}-E Mar Himle . 12) 通信+ 彩ー部:4 彩~ * ●●●●●● BRARLY VS = (3, BARRY = +\$ eer-i-chanerias=* ~ 2ª 5,~* ⇔∛³∢≬∼²≊≊ ⇔n^t∼ ^Eartin® 25 Se³-- Hat & So & 1:24Xm3 8==315[=5]0 ~9==4=4 160 m⁸=1-10 fr f f a h -9 - 19**- 19- 19-** 9-6 # @ _____ in the _____ in the _____ is Bilin: In= (= 4, Kin 20 = 1 = 2 = 2 \$\$\$~\$¤\$\$\$\$\$\$?~2 5 **2**83 2 1

Question 10.

(i)
$$3x - \frac{8}{x} = 2$$

(ii) $\frac{x}{3} + \frac{9}{x} = 4$
Solution:
 $\frac{1}{3}\frac{2x}{2x} - \frac{9}{x} = \frac{1}{3}$
 $\frac{1}{3}\frac{2}{x} - \frac{9}{x} - \frac{9}{x} = \frac{9}{3}$
 $\Rightarrow \frac{1}{3}\frac{2}{x} - \frac{9}{x} - \frac{9}{x} = \frac{9}{3}$
 $\Rightarrow \frac{1}{3}\frac{2}{x} - \frac{9}{x} - \frac{9}{x} = \frac{9}{3}$
 $\Rightarrow \frac{1}{3}\frac{2}{x} - \frac{9}{x} - \frac{9}{3}\frac{9}{x} - \frac{9}{3}\frac{9}{x} = \frac{9}{3}$
 $\Rightarrow \frac{1}{3}\frac{2}{x} - \frac{1}{3}\frac{2}{x} - \frac{9}{3}\frac{9}{x} - \frac{9}{3}\frac{1}{x} - \frac{9}{3}\frac{1}{x}$

۲

.

昭第5-3-262353303 昭第53-3-262353303

Question 11.

(i)
$$\frac{x-1}{x+1} = \frac{2x-5}{3x-7}$$

(ii) $\frac{1}{x+2} + \frac{1}{x} = \frac{3}{4}$
Solution:

(i)
$$\frac{x-1}{x+1} = \frac{2x-5}{3x-7}$$

By cross multiplication,

$$(x-1) (3x-7) = (x + 1) (2x - 5)$$

$$\Rightarrow 3x^{2} - 7x - 3x + 7 = 2x^{2} - 5x + 2x - 5$$

$$3x^{2} - 10x + 7 = 2x^{2} - 3x - 5 = 0$$

$$3x^{2} - 10x + 7 - 2x^{2} + 3x + 5 = 0$$

$$\Rightarrow x^{2} - 7x + 12 = 0$$

$$\Rightarrow x^2 - 4x - 3x + 12 = 0$$

$$\Rightarrow x(x - 4) - 3(x - 4) = 0$$

$$\begin{cases} \because 12 = -4 \times (-3) \\ -7 = -4 - 3 \end{cases}$$

 $\Rightarrow (x-4) (x-3) = 0$ Either, x - 4 = 0, then x = 4or x - 3 = 0, then x = 3 $\therefore x = 3, 4$

(*ii*)
$$\frac{1}{x+2} + \frac{1}{x} = \frac{3}{4}$$

 $\frac{x+x+2}{x(x+2)} = \frac{3}{4} \implies \frac{2x+2}{x(x+2)} = \frac{3}{4}$

By cross multiplication,

$$\Rightarrow 3x(x+2) = 4(2x+2)$$

$$\Rightarrow 3x^{2} + 6x = 8x + 8$$

$$\Rightarrow 3x^{2} + 6x - 8x - 8 = 0$$

$$\Rightarrow 3x^{2} - 2x - 8 = 0$$

$$\Rightarrow 3x^{2} - 6x + 4x - 8 = 0$$

$$\left[\because 3 \times (-8) = -24 \right]$$

$$\left\{ \begin{array}{c} \therefore -24 = -6 \times 4 \\ -2 = -6 + 4 \end{array} \right\}$$

-

$$\Rightarrow 3x(x-2) + 4(x-2) = 0$$

$$\Rightarrow (x-2) (3x+4) = 0$$

Either, x - 2 = 0, then x = 2

or
$$3x + 4 = 0$$
, then $3x = -4 \Rightarrow x = \frac{-4}{3}$

Hence, $x = 2, \frac{-4}{3}$

Question 12.

(i)
$$\frac{8}{x+3} - \frac{3}{2-x} = 2$$

(ii) $\frac{x}{x+1} + \frac{x+1}{x} = 2\frac{1}{6}$
Solution:
(i) $\frac{8}{x+3} - \frac{3}{2-x} = 2$
 $\Rightarrow \frac{8(2-x)-3(x+3)}{(x+3)(2-x)} = \frac{2}{1}$
 $\Rightarrow \frac{16-8x-3x-9}{2x-x^2+6-3x} = \frac{2}{1}$
 $\Rightarrow \frac{7-11x}{-x^2-x+6} = \frac{2}{1}$
 $\Rightarrow 7-11x = -2x^2 - 2x + 12$
(By cross multiplication)
 $\Rightarrow 2x^2 + 2x - 12 + 7 - 11x = 0$
 $\Rightarrow 2x^2 - 9x - 5 = 0$
 $\Rightarrow 2x^2 - 10x + x - 5 = 0$
 $\begin{cases} \because 2 \times (-5) = -10 \\ \therefore -10 = -10 \times 1 \\ -9 = -10 + 1 \end{cases}$
 $\Rightarrow 2x(x-5) + 1(x-5) = 0$
 $\Rightarrow (x-5) (2x+1) = 0$
Either, $x-5 = 0$, then $x = 5$

or 2x + 1 = 0, then $2x = -1 \Rightarrow x = \frac{-1}{2}$

or
$$2x + 1 = 0$$
, then $2x = -1 \Rightarrow x = \frac{-1}{2}$
 $\therefore x = 5, \frac{-1}{2}$
(ii) $\frac{x}{x+1} + \frac{x+1}{x} = 2\frac{1}{6}$
 $\frac{x^2 + (x+1)^2}{x(x+1)} = \frac{13}{6}$
 $\Rightarrow \frac{x^2 + x^2 + 2x + 1}{x^2 + x} = \frac{13}{6}$
 $\Rightarrow \frac{2x^2 + 2x + 1}{x^2 + x} = \frac{13}{6}$
 $13x^2 + 13x = 12x^2 + 12x + 6$
 $\Rightarrow 13x^2 + 13x - 12x^2 - 12x - 6 = 0$
 $\Rightarrow x^2 + x - 6 = 0$
 $\Rightarrow x^2 + 3x - 2x - 6 = 0$
 $\begin{cases} \because -6 = 3 \times (-2) \\ 1 = 3 - 2 \end{cases}$
 $\Rightarrow x(x+3) - 2(x+3) = 0$
 $\Rightarrow (x+3)(x-2) = 0$
Either, $x + 3 = 0$, then $x = -3$
or $x - 2 = 0$, then $x = 2$
 $\therefore x = 2, -3$

Multiple Choice Questions

Choose the correct Solution from the given four options (1 to 5): Question 1. Which of the following is not a quadratic equation : (a) $2x^2 = 3x - 5$ (b) $(2x - 1) (x - 1) = 2x^2 - 7x + 2$ (c) (2x - 1) (x + 2) = (x - 1) (x + 1)(d) (x + 1), = x, + 2x+2 Solution: $(2x - 1) (x - 1) = 2x^2 - 7x + 2$ is not a quadratic equation. (b)

Question 2.

If 2 is a root of the quadratic equation $2x^2 - kx + 1 = 0$, then the value of k is (a) 9 (b) -9

-	9		9
(c)	$\frac{1}{2}$	(d)	$\overline{2}$

Solution:

$$\therefore 2 \text{ is root of } 2x^2 - kx + 1 = 0$$

$$\therefore 2(2)^2 - k(2) + 1 = 0$$

$$8 - 2k + 1 = 0 = 9 = 2k$$

$$\Rightarrow k = \frac{9}{2}$$
 (c)

Question 3.

If -3 is a root of the quadratic equation $kx^2 + 2x - 3 = 0$, then the value of k is (a) 1 (b) -1 (c) $\frac{1}{9}$ (d) $\frac{1}{-9}$ Solution:

-3 is a root of quadratic equation.

$$kx^{2} + 2x - 3 = 0$$

$$\Rightarrow k(-3)^{2} + 2(-3) - 3 = 0$$

$$\Rightarrow 9k - 6 - 3 = 0 \Rightarrow 9k = 9$$

$$\Rightarrow k = \frac{9}{9} = 1$$
(a)

Question 4.

Which of the following quadratic equations has -1 as a root? (a) $x^2 + 5x + 6 = 0$ (b) $2x^2 - 3x + 1 = 0$ (c) $2x^2 + x - 3 = 0$ (d) $2x^2 - x - 3 = 0$ Solution: $\therefore -1$ is a root of the quadratic equation.

 $\therefore \text{ It will satisfy it}$ $2x^2 - x - 3 = 0$ $\Rightarrow 2(-1)^2 - (-1) - 3 = 0$ $\Rightarrow 2 + 1 - 3 = 0$ $\Rightarrow 3 - 3 = 0 \qquad (d)$

Question 5.

The root of the quadratic equation $x^2 - 3x - 4 = 0$ are (a) -4, 1 (b) 4, -1 (c) 4, 1 (d) -4, -1 Solution: $x^2 - 3x - 4 = 0$ $\Rightarrow x^2 - 4x + x - 4 = 0 \Rightarrow x(x - 4) + 1(x - 4)$ $\Rightarrow (x - 4) (x + 1) = 0$ If x - 4 = 0, then x = 4 x + 1 = 0, then x = -1 $\therefore x = 4, -1$ (b)

Chapter Test

Solve the following (1 to 3) equations: Question 1. (i) x(2x+5) = 3(ii) $3x^2 - 4x - 4 = 0$ Solution: (i) x(2x+5) = 3 $\Rightarrow 2x^2 + 5x - 3 = 0 \qquad \begin{cases} \because 2 \times (-3) = -6 \\ \therefore -6 = 6 \times (-1) \\ 5 = 6 - 1 \end{cases}$ $\Rightarrow 2x^2 + 6x - x - 3 = 0$ $\Rightarrow 2x(x+3) - 1(x+3) = 0$ \Rightarrow (x + 3) (2x - 1) = 0 Either, x + 3 = 0, then x = -3or 2x - 1 = 0, then $2x = 1 \Rightarrow x = \frac{1}{2}$ $\therefore x = -3, \frac{1}{2}$ (ii) $3x^2 - 4x - 4 = 0$ $\Rightarrow 3x^2 - 6x + 2x - 4 = 0$ $\begin{cases} \because 3 \times (-4) = -12 \\ \therefore -12 = -6 \times 2 \\ -4 = -6 + 2 \end{cases}$ \Rightarrow 3x(x - 2) + 2(x - 2) = 0 \Rightarrow (x-2)(3x+2) = 0Either, x - 2 = 0, then x = 2or 3x + 2 = 0, then $3x = -2 \Rightarrow x = \frac{-2}{3}$ $\therefore x=2, \frac{-2}{3}$

Question 2.
(i)
$$4x^2 - 2x + \frac{1}{4} = 0$$

(ii) $2x^2 + 7x + 6 = 0$
Solution:
(i) $4x^2 - 2x + \frac{1}{4} = 0$
 $\Rightarrow 16x^2 - 8x + 1 = 0$
 $\Rightarrow 16x^2 - 8x + 1 = 0$
 $\Rightarrow 16x^2 - 4x - 4x + 1 = 0$
 $\Rightarrow 4x(4x - 1) - 1(4x - 1) = 0$
 $\Rightarrow 4x(4x - 1) - 1(4x - 1) = 0$
 $\Rightarrow 4x(4x - 1) (4x - 1) = 0 \Rightarrow (4x - 1)^2 = 0$
 $\Rightarrow 4x - 1 = 0 \Rightarrow 4x = 1$
 $\therefore x = \frac{1}{4}, \frac{1}{4}$
(ii) $2x^2 + 7x + 6 = 0$
 $\Rightarrow 2x^2 + 4x + 3x + 6 = 0$
 $\begin{cases} \because 2 \times 6 = 12 \\ \because 12 = 3 \times 4 \\ 7 = 3 + 4 \end{cases}$
 $\Rightarrow 2x(x + 2) + 3(x + 2) = 0$
 $\Rightarrow (x + 2) (2x + 3) = 0$
Either, $x + 2 = 0$, then $x = -2$
or $2x + 3 = 0$, then $2x = -3 \Rightarrow x = \frac{-3}{2}$

 $\therefore x = -2, \frac{-3}{2}$

Question 3.
(i)
$$\frac{x-1}{x-2} + \frac{x-3}{x-4} = 3\frac{1}{3}$$

(ii) $\frac{6}{x} - \frac{2}{x-1} = \frac{1}{x-2}$
Solution:
(i) $\frac{x-1}{x-2} + \frac{x-3}{x-4} = 3\frac{1}{3}$
 $\frac{(x-1)(x-4) + (x-2)(x-3)}{(x-2)(x-4)} = \frac{10}{3}$
 $\Rightarrow \frac{x^2 - 5x + 4 + x^2 - 5x + 6}{x^2 - 6x + 8} = \frac{10}{3}$
 $\Rightarrow \frac{2x^2 - 10x + 10}{x^2 - 6x + 8} = \frac{10}{3}$
 $\Rightarrow 10x^2 - 60x + 80 = 6x^2 - 30x + 30$
 $\Rightarrow 10x^2 - 60x + 80 - 6x^2 + 30x - 30 = 0$
 $\Rightarrow 4x^2 - 30x + 50 = 0$
 $\Rightarrow 2x^2 - 15x + 25 = 0$
 $\Rightarrow 2x^2 - 10x - 5x + 25 = 0$
 $\begin{cases} \because 2 \times 25 = 50 \\ \therefore 50 = -10 \times (-5) \\ -15 = -10 - 5 \end{cases}$

$$\int (-15 = -1)$$

 $\Rightarrow 2x(x-5) - 5(x-5) = 0$ $\Rightarrow (x-5)(2x-5)=0$

Either,
$$x - 5 = 0$$
, then $x = 5$
or $2x - 5 = 0$, then $2x = 5 \Rightarrow x = \frac{5}{2}$
 $\therefore x = 5, \frac{5}{2}$
(ii) $\frac{6}{x} - \frac{2}{x-1} = \frac{1}{x-2}$
 $\frac{6x-6-2x}{x(x-1)} = \frac{1}{x-2}$
 $\Rightarrow \frac{4x-6}{x^2-x} = \frac{1}{x-2}$
 $\Rightarrow (4x-6) (x-2) = x^2 - x$
(By cross multiplication)
 $\Rightarrow 4x^2 - 8x - 6x + 12 = x^2 - x$
 $\Rightarrow 4x^2 - 14x + 12 - x^2 + x = 0$
 $\Rightarrow 3x^2 - 13x + 12 = 0$
 $\Rightarrow 3x^2 - 4x - 9x + 12 = 0$
 $\begin{cases} \because 3 \times 12 = 36 \\ \therefore 36 = (-4) \times (-9) \\ -13 = -4 - 9 \end{cases}$
 $\Rightarrow x(3x-4) - 3(3x-4) = 0$
 $\Rightarrow (3x-4) (x-3) = 0$
Either, $3x - 4 = 0$, then $3x = 4 \Rightarrow x = \frac{4}{3}$
or $x - 3 = 0$, then $x = 3$
 $\therefore x = 3, \frac{4}{3}$